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Original text – from book by Robbins, 2003, p.103 





Television advertisements are far less intrusive upon children's lives than is imagined.  Research shows most children between three and thirteen spend only 1.4% of their waking time watching television advertisements. 





Paraphrase





A study has shown that young children under thirteen spend less than 2% of their day watching adverts, which would suggest that therefore, advertising is unlikely to be much of an influence on their lives (Robbins, 2003, p.103).





Paraphrasing 


= putting information into your own words.


Used for quoting/citing











Think reference








1.Change word type/grammar











1. development (noun) – to develop (verb) – developed (adj.) – 


    underdeveloped (opp. adj.) – to overdevelop (opp. verb)


Transport has not been developed. = Transport is underdeveloped.


At first, they had difficulties collecting proof.  The result was a retrial.


= At first, it was difficult for them to collect proof, resulting in a retrial.








2. At first, they had difficulties collecting proof. 


     = Initially, they had problems gathering evidence.








3. At first, they had difficulties collecting proof. 


     = Finding evidence was initially problematic.











2. Use different words (careful – see below!)








3. Use different word order/words word type/grammar








Original text  - from book by Malone, 2003


One possible drawback would be the effect on children who, until the age of eight, cannot distinguish advertising from reality.





Examples of plagiarism;


1. Substitute language, so same structure; no reference


A potential disadvantage would be the impact on the young who, until eight years old, are not able to separate advertising and reality. x





2. Paraphrased language; no reference


Then there is the potential harmful effect on children under the age of eight, who can have difficulty distinguishing between advertising and the real world. x





Example of bad writing!


Substitute language, but with a reference


A potential disadvantage would be the impact on the young who, until eight years old, are not able to separate advertising and reality (Malone, 2010). x








Example of paraphrasing with reference


Malone (2010) points out the potential harmful effect on children under the age of eight, who can have difficulty distinguishing between advertising and  the real world.








Be careful of plagiarism!








Think language








Make your own groups1/2 


(use abstract nouns and/or plurals)











‘Crush’ sentences into fewer words 


(use more complex sentences)

















The last thirty years have seen immense changes in society, and banking has not been immune.  Traditionally it had a reputation as being a conservative industry, but this has changed dramatically since the ‘Big Bang’ of the 1980s. Banking is now one of the most dynamic sectors in the economy, and has embraced change, transforming itself for two main reasons.  Firstly, there has been the impact of technology, which has meant individuals have greater power over their accounts, businesses have faster access to funding and investors have better information on markets.  Secondly there is the effect of government deregulation, giving banks much greater independence.  This has led to an explosion in their profits, but arguably also led to the credit crisis. 


(121 words)





Notes





- banking = conservative reputation





- 1980s changed, now v. dynamic





2 reasons 	1. technology


                 	2. deregulation





2 results   	1. greater profits


                 	2. credit crisis?





Summary


Banking has changed since the 1980s when it was a conservative industry.  Now it is a highly dynamic one.  This is because of both technology and deregulation. This has led to greater profits but perhaps also the credit crisis.


(39 words)


=





Banking has changed since the 1980s from being a conservative to a 


highly dynamic industry as a result of both technology and deregulation, leading to greater profits but also perhaps the credit crisis. 


(33 words)











(extract)


…the impact of technology, which has meant individuals2 have greater power over their accounts1, businesses2 have faster access to funding1 and investors2 have better information on markets1… 


(27 words)


=





Technology has led to improved service1 for a broad range of customers2.


(12 words)





Use main points


(often nouns/verbs)





Take notes?








Summarising


= putting information into your own words, but shorter
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